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. PON (Passive opticaI network)

. BPON (Broadband passive optical network)

. GPON (Gigabit passive optical network)

. GEPON (Gigabit-Ethernet passive optical network)

. 10G-EPON (10 Gigabit-Ethernet passive optical network)

. SONET/SDH

o PCM (Pulse Code Modutation)

. DWDM

O CWDM

. NRZ-L

.RZ

O HDB3

. Manchester

. AMI

t EYe Pattern

o Chi rp ing

. Reflection noise

o Responsivity
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2. lux oRovt fisiruru g Tr,run finr:qryufiurir#r4rqerornnr:tfiu#rgru1il Bl. = 15 dB finr:aryifiu

d{qnalnnr:rilr.irufr'ryryrru = 3.5 dB finr:4rprfiufl{etnalnnr:fir#ryrgrru = 3.5 dB ttavfr

d'urj:vfivrdnl:nnylouflolr#uluruirri'r*a{ 0.2 dB/km qtri'}urruilr:uuvll'l{ (3 nvuuu)

3. DFB (Distributed -feedback laser) rauqloifr'rvfir rBunr:1{lrulri'rir#lrra.r 50 mW ilrirfiol{rru

irj s tJ rryu'irrir#lrraqnnnlruf;o 45 mW qtrirurilur:vflst'lnrfirira'stuacqvapln{tufio 25 mW
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4. fiuTyllnterToprd'rr,rfic leifuuatdnnn:sur:flnr.uutrndu 1310 nm uavfisraa'uridrfrpr;f,u lo= 2 nA

, r = 0.6, RL=150; fl unsfin:sga9rlraafifil l..= g.1 nn tulrusduddnfln:3vlu 0'1 nATerunrdu

$a{finnn:vvrufirird'q 250 nw uavuluriipnitald'eyrgrrutv'hilrurJatlflldornnduuaodtui',tiu zs

MHz qqr{.rurn;,1dn:rriru#ryryrrurio#ryry'rru:unru (5/N) (3 nvuuu)

5. ,ruudra.'r6ifr'n ddoaT:riru"[aufirdr*at t{rnn'ourra{n?1:-]u1?naru 13to nm frdsr:'rnr:

finnnrnrorl-n{ouaflr4pr 10's r]:yfiyBnryrniud'uzoclv'llndrvrrrtmoi n=1 unv Bit rate = 25

Mbos 
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6. qcil:silrrunr:rirriT d'wT u:ruudoa'':airularurir*lr:nnrionn fi:vlufi4ruarrifrrir'r1d'ld

Transmifl€r Rece iver

nffiF:#ffiil
Transmitter:

o Output Power = 200 Ftw

o OutPut diameter = 100 Pm

I  NA=0 .2

o Connector loss = 1 dB

Fiber  1:

o Size = 85/1.25 pm

o NA = 0.22

r Attenuation = 0.2 dB/km

o Length = 50 km

Connector: loss (max) = 0.35 dB

Fiber 2:

o size = 80/200 pm

o  NA=0 .3

o Attenuation = 0.22 dB/km

. Length = 30 km

Fiber 3:

o Size = 85/1.25 Vm
r NA = 0.26

r Attenuation = 0.5 dB/km

r Length = 40 km
*Receiver:



i

. Sensitivitv = 250 nA

o Diameter = 150 um

o NA = 0.35

c Connector loss = 1 dB
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. rirnrutrarfitoururflufinrrrri'r = 17 ns

. n?rilni1{1J0{fltilnnYilvVniiilac = 45 ns
v

. niturattoutrflunaorraTslEJurirEJlr 15 km = 25 ns

r lruuriindYrrlnrnril 50 MHz

. uruupiinr5dYutfrtolarulurtrir 400 MHz'km

o  f t t O = 0 . 7

ocrirurruurrirrraltout',flutfot*uu (5 rrvuluu)
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8. :suuaoffl:zururduluurir finT :rfirproi?o{:uuufi'{fi
. dn:rnr:eilrio4n 1oo Mbps _
. d'n:tnr:frnvlnrrrtol{aua io'

. rir#teiruYuoirqnr -40 dBm

. rird't6'rurit -26 dBm
o ntnt:nnilouro{ Connector fi6'ruricilav6'ruYl 0.2 dB/connector

o fflutuufirurr 50 km
. rirnt:nououluaru 0.2 dB/km

. finnr splice riruru + nor uravfirilnl:aflilou 0.15 dB/no

x.i?1nlnouiln:1.llJo{TyUU rirnr:nsrytou4l4orfiuolYut6' eirurfiorir#woc:vlu rrnn:rvnl

uarwrirrira-tflo{5uuunaofl:vuvaru"tu$fi1 
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